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abstract class AbstraactFactory
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}

public abstract AbstractProductA CreateProductA();
public abstract AbstractProductB CreateProductB();

class ConcreteFactoryl : AbstraactFactory

{

}

public override AbstractProductA CreateProductA()
{

return new ProudctAL();

}
public override AbstractProductB CreateProductB()

{

return new ProductB1();

class ConcreteFactory?2 : AbstraactFactory

{

}

public override AbstractProductA CreateProductA()
{

return new ProductA2();

}
public override AbstractProductB CreateProductB()

{

return new ProductB2();

abstract class AbstractProductA

{
}

abstract class AbstractProductB

{

}

public abstract void Interact(AbstractProductA a);

class ProudctAl : AbstractProductA

{
¥

class ProductB1 : AbstractProductB

{

public override void Interact(AbstractProductA a)

{
Console.WriteLine(this.GetType().Name +

" interacts with " + a.GetType().Name);



class ProductA2 : AbstractProductA

{
}
class ProductB2 : AbstractProductB
{
public override void Interact(AbstractProductA a)
{
Console.WriteLine(this.GetType().Name +
" interacts with " + a.GetType().Name);
}
}
class Client
{
private AbstractProductA _abstractProductA,;
private AbstractProductB _abstractProductB;
public Client(AbstraactFactory factory)
{
_abstractProductB = factory.CreateProductB();
_abstractProductA = factory.CreateProductA();
}
public void Run()
{
_abstractProductB.Interact(_abstractProductA);
}
}
I :

AbstraactFactory factoryl = new ConcreteFactory1();
Client clientl = new Client(factoryl);

clientl.Run();

AbstraactFactory factory2 = new ConcreteFactory2();
Client client2 = new Client(factory2);

client2.Run();

itk

ProductB1 interacts with ProudctAl

ProductB2 interacts with ProductA2
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class Director

{
public void Construct(Buidler builder)
{
builder.BuildPartA();
builder.BuildPartB();
}
}
abstract class Buidler
{
public abstract void BuildPartA();
public abstract void BuildPartB();
public abstract Product GetResult();
}
class ConcreateBuilderl : Buidler
{
private Product _product = new Product();
public override void BuildPartA()
{
_product. Add("PartA");
}
public override void BuildPartB()
{
_product. Add("PartB");
}
public override Product GetResult()
{
return _product;
}
}
class ConcreateBuilder2 : Buidler
{

private Product _product = new Product();
public override void BuildPartA()

{
_product. Add("PartX");

}
public override void BuildPartB()

{
_product. Add("PartY™);



public override Product GetResult()

{
return _product;
}
}
class Product
{
private List<string> _parts = new List<string>();
public void Add(string part)
{
_parts.Add(part);
}
public void Show()
{
Console.WriteLine("\nProduct parts 7= §25% (V4= JEFLA) ),
foreach (string part in _parts)
{
Console.WriteLine(part);
}
}
}
W -
Director director = new Director();
Buidler b1 = new ConcreateBuilderl();
Buidler b2 = new ConcreateBuilder2();
director.Construct(bl);
Product p1 = b1.GetResult();
pl.Show();
director.Construct(b2);
Product p2 = b2.GetResult();
p2.Show();
i th
Product parts 52K (P4 FEFESE)
PartA
PartB

Product parts 2K (P45, FEFESE)
PartX
PartY
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abstract class ProductFM

{
}
class ConcreteProductA : ProductFM
{
}
class ConcreteProductB : ProductFM
{
}
abstract class CreatorFM
{
public abstract ProductFM FactoryMethod();
}
class ConcreteCreatorA : CreatorFM
{
public override ProductFM FactoryMethod()
{
return new ConcreteProductA();
}
}
class ConcreteCreatorB : CreatorFM
{
public override ProductFM FactoryMethod()
{
return new ConcreteProductB();
}
}
P -

CreatorFMT[] creators = new CreatorFMJ[2];
creators[0] = new ConcreteCreatorA();
creators[1] = new ConcreteCreatorB();



foreach (CreatorFM creator in creators)

{
ProductFM product = creator.FactoryMethod();
Console.WriteLine("Created {0}",
product.GetType().Name);
}

B
Created ConcreteProductA
Created ConcreteProductB
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abstract class Prototype

{

private string _id;

public Prototype(string id)
{
this._id = id;
}
public string Id
{
get { return _id; }
}
public abstract Prototype Clone();

}

class ConcretePrototypel : Prototype
{
public ConcretePrototypel(string id)
: base(id)
{
}
public override Prototype Clone()

{



return (Prototype)this.MemberwiseClone();

}
}
class ConcretePrototype? : Prototype
{
public ConcretePrototype2(string id)
: base(id)
{
}
public override Prototype Clone()
{
return (Prototype)this.MemberwiseClone();
}
}
-
ConcretePrototypel cpl = new ConcretePrototypel("1");
ConcretePrototypel ¢l = (ConcretePrototypel)cpl.Clone();
Console.WriteLine("Cloned:{0}", c1.1d);
ConcretePrototype2 cp2 = new ConcretePrototype2("H");
ConcretePrototype2 ¢2 = (ConcretePrototype2)cp2.Clone();
Console.WriteLine("Cloned:{0}", c2.1d);
fth
Cloned:l
Cloned:11
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class Singleton
{
private static Singleton _instance;
protected Singleton()

{
}

public static Singleton Instance()

{



/*

/I Uses lazy initialization.

/I Note: this is not thread safe
if (_instance == null)

{

_instance = new Singleton();

}

return _instance;

W

Singleton s1 = Singleton.Instance();
Singleton s2 = Singleton.Instance();

if (51 ==s2)
{

Console.WriteLine(""Objects are same instance™);

s -
Objects are same instance
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lass Target

public virtual void Request()

{
Console.WriteLine(""Called Target Request()");

class Adapter : Target

{



private Adaptee _adaptee = new Adaptee();
public override void Request()

{
_adaptee.SpecificRequest();
}
}
class Adaptee
{
public void SpecificRequest()
{
Console.WriteLine(*"Called SpecificRequest()");
}
}
WA
Target target = new Adapter();
target.Request();
Bt .

Called SpecificRequest()
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class Abstraction

{

protected Implementor implementor;

public Implementor Implementor

{

set {implementor=value;}



public virtual void Operation()

{
implementor.Operation();
}
}
abstract class Implementor
{
public abstract void Operation();
}
class RefinedAbstraction : Abstraction
{
public override void Operation()
{
implementor.Operation();
}
}
class ConcretelmplementorA : Implementor
{
public override void Operation()
{
Console.WriteLine("ConcretelmplementorA Operation™);
}
}
class ConcretelmplementorB : Implementor
{
public override void Operation()
{
Console.WriteLine("ConcretelmplementorB Operation");
}
}
P -
/lset
Abstraction ab = new RefinedAbstraction();
ab.Implementor = new ConcretelmplementorA();
ab.Operation();
/lchange
ab.Implementor = new ConcretelmplementorB();
ab.Operation();
Bt

ConcretelmplementorA Operation
ConcretelmplementorB Operation
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abstract class Component

{
protected string name;
public Component(string hame)
{
this.name = name;
}
public abstract void Add(Component c);
public abstract void Remove(Component c);
public abstract void Display(int depth);
}
class Composite : Component
{

private List<Component> _children = new List<Component>();
public Composite(string name)

: base(name)
{
}
public override void Add(Component component)
{
_children.Add(component);
}
public override void Remove(Component component)
{
_children.Remove(component);
}
public override void Display(int depth)
{

Console.WriteLine(new string('-', depth) + name);
foreach (Component component in _children)

{
component.Display(depth + 2);



}
class Leaf : Component
{
public Leaf(string name)
: base(name)
{
}
public override void Add(Component c)
{
Console.WriteLine(*"Cannot add to a leaf");
}
public override void Remove(Component c)
{
Console.WriteLine("Cannot remove from a leaf");
}
public override void Display(int depth)
{
Console.WriteLine(new string('-', depth) + name);
}
}
W -
Composite root = new Composite("root");
root. Add(new Leaf("Leaf A"));
root. Add(new Leaf("Leaf B"));
Composite comp = new Composite("Composite X");
comp.Add(new Leaf("Leaf XA"));
comp.Add(new Leaf("Leaf XB"));
root.Add(comp);
root. Add(new Leaf("Leaf C"));
/ladd and remove a leaf
Leaf leaf = new Leaf("Leaf D");
root.Add(leaf);
root.Remove(leaf);
root.Display(1);
Bt
-root
---Leaf A
---Leaf B

---Composite X



----- Leaf XA
----- Leaf XB
---Leaf C
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abstract class DComponent

{
public abstract void Operation();
}
class ConcreteComponent : DComponent
{
public override void Operation()
{
Console.WriteLine("ConcreteComponent.Operation()™);
}
}
abstract class Decorator : DComponent
{
protected DComponent component;
public void SetComponent(DComponent component)
{
this.component = component;
}
public override void Operation()
{
if (component != null)
{
component.Operation();
}
}
}

class ConcreteDecoratorA : Decorator



public override void Operation()

{
base.Operation();
Console.WriteLine(*"ConcreteDecoratorA.Operation()");
}
}
class ConcreteDecoratorB : Decorator
{
public override void Operation()
{
base.Operation();
AddedBehavior();
Console.WriteLine("ConcreteDecoratorB.Operation()");
}
void AddedBehavior()
{
}
}
W]
ConcreteComponent ¢ = new ConcreteComponent();
ConcreteDecoratorA d1 = new ConcreteDecoratorA();
ConcreteDecoratorB d2 = new ConcreteDecoratorB();
d1.SetComponent(c);
d2.SetComponent(dl);
d2.Operation();
fth

ConcreteComponent.Operation()
ConcreteDecoratorA.Operation()
ConcreteDecoratorB.Operation()
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class SubSystemOne

{
public void MethodOne()
{
Console.WriteLine(" SubSystemOne Method");
}
}
class SubSystemTwo
{
public void MethodTwo()
{
Console.WriteLine(" SubSystemTwo Method");
}
}
class SubSystemThree
{
public void Method Three()
{
Console.WriteLine(" SubSystemThree Method™);
}
}
class SubSystemFour
{
public void MethodFour()
{
Console.WriteLine(" SubSystemFour Method");
}
}
class Facade
{

private SubSystemOne _one;
private SubSystemTwo _two;
private SubSystemThree _three;
private SubSystemFour _four;

public Facade()
{

_one = new SubSystemOne();



_two = new SubSystemTwo();
_three = new SubSystemThree();
_four = new SubSystemFour();

}

public void MethodA()

{
Console.WriteLine("\nMethodA() ---- );
_one.MethodOne();
_two.MethodTwo();
_four.MethodFour();

}

public void MethodB()

{
Console.WriteLine("\nMethodB() ---- ");
_two.MethodTwo();
_three.Method Three();

}

}

W]
Facade facade = new Facade();
facade.MethodA();
facade.MethodB();

fth

MethodA() ----

SubSystemOne Method
SubSystemTwo Method
SubSystemFour Method

MethodB() ----
SubSystemTwo Method
SubSystemThree Method
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class FlyweightFactory

{
private Hashtable flyweights = new Hashtable();
public FlyweightFactory()
{
flyweights.Add("X", new ConcreteFlyweight());
flyweights.Add("Y", new ConcreteFlyweight());
flyweights.Add("Z", new ConcreteFlyweight());
}
public Flyweight GetFlyweight(string key)
{
return (Flyweight)flyweights[keyl;
}
}
abstract class Flyweight
{
public abstract void Operation(int extrinsicstate);
}
class ConcreteFlyweight:Flyweight
{
public override void Operation(int extrinsicstate)
{
Console.WriteLine("ConcreteFlyweight: " + extrinsicstate);
}
}
class UnsharedConcreteFlyweight:Flyweight
{
public override void Operation(int extrinsicstate)
{
Console.WriteLine("UnsharedConcreteFlyweight:" +
extrinsicstate);
}
}
W

int extrinsicstate = 22;

FlyweightFactory factory = new FlyweightFactory();
Flyweight fx = factory.GetFlyweight("X");
fx.Operation(--extrinsicstate);

Flyweight fy = factory.GetFlyweight("Y™");
fy.Operation(--extrinsicstate);



Flyweight fz = factory.GetFlyweight("Z");
fz.Operation(--extrinsicstate);

Bt :

ConcreteFlyweight: 21
ConcreteFlyweight: 20
ConcreteFlyweight: 19
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abstract class Subject

{
public abstract void Request();

}

class RealSubject : Subject

{
public override void Request()
{

Console.WriteLine("Called RealSubject.Request()");

}

}

class Proxy : Subject

{

private RealSubject _realSubject;
public override void Request()
{

if (_realSubject == null)

{



_realSubject = new RealSubject();

}
_realSubject.Request();
}
}
LIEE
Proxy proxy = new Proxy();
proxy.Request();
Bt .

Called RealSubject.Request()
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abstract class Handler
{
protected Handler successor;
public void SetSuccessor(Handler successor)

{

this.successor = successor;

}

public abstract void HandleRequest(int request);

}

class ConcreteHandler1:Handler

{

public override void HandleRequest(int request)
{
if (request >= 0 && request < 10)
{
Console.WriteLine("{0} Handled request {1}",
this.GetType().Name, request);

}

else if (successor != null)

{

successor.HandleRequest(request);



}
class ConcreteHandler2 : Handler
{
public override void HandleRequest(int request)
{
if (request >= 10 && request < 20)
{
Console.WriteLine("{0} handled request {1}",
this.GetType().Name, request);
}
else if (successor != null)
{
successor.HandleRequest(request);
}
}
}
class ConcreteHandler3 : Handler
{
public override void HandleRequest(int request)
{
if (request >= 20 && request < 30)
{
Console.WriteLine("{0} handled request {1}",
this.GetType().Name, request);
}
else if (successor != null)
{
successor.HandleRequest(request);
}
}
}
P -

Handler hl = new ConcreteHandler1();
Handler h2 = new ConcreteHandler2();
Handler h3 = new ConcreteHandler3();
h1.SetSuccessor(h2);
h2.SetSuccessor(h3);

int[] requests = { 2, 5, 14, 22, 18, 3, 27, 20 };
foreach (int request in requests)

{
h1.HandleRequest(request);



-

ConcreteHandlerl Handled request 2
ConcreteHandlerl Handled request 5
ConcreteHandler2 handled request 14
ConcreteHandler3 handled request 22
ConcreteHandler2 handled request 18
ConcreteHandlerl Handled request 3
ConcreteHandler3 handled request 27
ConcreteHandler3 handled request 20
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abstract class Command

{
public abstract void Execute();
public abstract void UnExecute();
}
class CalculatorCommand : Command
{

private char _operator;
private int _operand,;
private Calculator _calculator;



public CalculatorCommand(Calculator calculator,
char @operator, int operand)

{
this._calculator = calculator;
this._operator = @operator;
this._operand = operand;

}

public char Operator

{

set { _operator = value; }

public int Operand
{

set { _operand = value; }

public override void Execute()

{

_calculator.Operation(_operator, _operand);

public override void UnExecute()

{
_calculator.Operation(Undo(_operator), _operand);
}
public char Undo(char @operator)
{
switch (@operator)
{
case '+'": return '-';
case -': return '+,
case *": return '/";
case '/": return "*
default:throw new
ArgumentException("@operator");
}
}
}
class Calculator
{

private int _curr =0;
public void Operation(char @operator, int operand)



switch (@operator)

{
case '+ _curr += operand; break;
case -": _curr -= operand; break;
case "' _curr *= operand; break;
case /" _curr /= operand; break;
}

Console.WriteLine(
"Current value={0,3} (following {1} {2})",
_curr, @operator, operand);

}
}
class User
{

private Calculator _calculator = new Calculator();
private List<Command> _commands = new List<Command>();
private int _current = 0;

public void Redo(int levels)

{
Console.WriteLine("\n---- Redo {0} levels ", levels);
for (inti=0;i<levels; i++)
{
if (_current < _commands.Count - 1)
{
Command command = _commands[_current++];
command.Execute();
}
}
}
public void Undo(int levels)
{
Console.WriteLine("\n---- Undo {0} levels ", levels);
for (inti=0;i<levels; i++)
{
if (_current > 0)
{
Command command = _commands[--_current] as Command,;
command.UnExecute();
}
}
}

public void Compute(char @operator, int operand)



Command command = new CalculatorCommand(
_calculator, @operator, operand);
command.Execute();

_commands.Add(command);
_current++;

W
User user = new User();
user.Compute('+', 100);
user.Compute(’-', 50);
user.Compute('*', 10);
user.Compute('/', 20);

user.Undo(4);
user.Redo(3);

Btk

Current value=100 (following + 100)
Current value= 50 (following - 50)
Current value=500 (following * 10)
Current value= 25 (following / 20)

---- Undo 4 levels

Current value=500 (following * 20)
Current value= 50 (following / 10)
Current value=100 (following + 50)
Current value= 0 (following - 100)

---- Redo 3 levels

Current value=100 (following + 100)
Current value= 50 (following - 50)
Current value=500 (following * 10)
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class Context

{
}
abstract class AbstractExpression
{
public abstract void Interpret(Context context);
}
class TerminalExpression:AbstractExpression
{
public override void Interpret(Context context)
{
Console.WriteLine("Called Terminal.Interpret()");
}
}
class NoterminalExpression : AbstractExpression
{
public override void Interpret(Context context)
{
Console.WriteLine(""Called Noterminal.Interpret()");
}
}
P
Context context = new Context();
ArrayList list = new ArrayList();
list. Add(new TerminalExpression());
list. Add(new NoterminalExpression());
list. Add(new TerminalExpression());
list. Add(new TerminalExpression());
foreach (AbstractExpression exp in list)
{
exp.Interpret(context);
}
Bt

Called Terminal.Interpret()



Called Noterminal.Interpret()
Called Terminal.Interpret()
Called Terminal.Interpret()
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abstract class Aggregate

{
public abstract Iterator Createlterator();
}
class ConcreteAggregate : Aggregate
{
private ArrayList _items = new ArrayList();
public override Iterator Createlterator()
{
return new Concretelterator(this);
}
public int Count
{
get { return _items.Count; }
}
public object this[int index]
{
get { return _items[index]; }
set { _items.Insert(index, value); }
}
}
abstract class Iterator
{
public abstract object First();
public abstract object Next();
public abstract bool IsDone();
public abstract object Currentltem();
}

class Concretelterator : lterator

{



private ConcreteAggregate _aggregate;
private int _current = 0;

public Concretelterator(ConcreteAggregate aggregate)

{
this._aggregate = aggregate;

}
public override object First()
{
return _aggregate[0];
}
public override object Next()
{
object ret = null;
if (_current < _aggregate.Count - 1)
{
ret = _aggregate[++_current];
}
return ret;
}
public override object Currentltem()
{
return _current >= _aggregate.Count;
}
public override bool IsDone()
{
return _current >= _aggregate.Count;
}
}
P
ConcreteAggregate a = new ConcreteAggregate();
a[0] = "ltem A™;
a[1] = "ltem B";
a[2] = "ltem C";
a[3] ="ltem D";

Concretelterator i = new Concretelterator(a);
Console.WriteLine("lterating over collection:");

object item = i.First();

while (item != null)

{
Console.WriteLine(item);
item = i.Next();



-

Iterating over collection:
Item A

Item B

Item C

Item D
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*

*

abstract class Mediator

{
public abstract void Send(string messages,
Colleague colleague);
}
class ConcreteMediator : Mediator
{

private ConcreteColleaguel _colleaguel,;
private ConcreteColleague2 _colleague2;

public ConcreteColleaguel Colleaguel

{
set { _colleaguel = value; }
}
public ConcreteColleague2 Colleague2
{
set { _colleague2 = value; }
}

public override void Send(string message,
Colleague colleague)

if (colleague == _colleaguel)



}

_colleague2.Notify(message);

_colleaguel.Notify(message);

abstract class Colleague

{

}

protected Mediator mediator;
public Colleague(Mediator mediator)

{

this.mediator = mediator;

class ConcreteColleaguel : Colleague

{

}

public ConcreteColleaguel(Mediator mediator)
: base(mediator)

{
}
public void Send(string message)
{

mediator.Send(message, this);
}
public void Notify(string message)
{

Console.WriteLine("Colleaguel gets message:"

+ message);

}

class ConcreteColleague? : Colleague

{

public ConcreteColleague2(Mediator mediator)
: base(mediator)

{
}
public void Send(string message)
{

mediator.Send(message, this);
}

public void Notify(string message)



Console.WriteLine("Colleague2 gets message:"
+ message);

ConcreteMediator m = new ConcreteMediator();
ConcreteColleaguel ccl = new ConcreteColleaguel(m);
ConcreteColleague2 cc2 = new ConcreteColleague2(m);

m.Colleaguel = ccl;
m.Colleague2 = cc2;
ccl.Send("How are You?");
cc2.Send("Fine, thanks");

Bt .
Colleague2 gets message:How are You?
Colleaguel gets message:Fine, thanks
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class Originator
{
private string _state;
public string State
{
get { return _state; }
set
{
_state = value;
Console.WriteLine(""State = "' + _state);



public Memento CreateMemento()

{

return (new Memento(_state));

}

public void SetMemento(Memento memento)

{

Console.WriteLine(""Restoring state...");
State = memento.State;

}
}
class Memento
{
private string _state;
public Memento(string state)
{
this._state = state;
}
public string State
{
get { return _state; }
}
}
class Caretaker
{
private Memento _memento;
public Memento Memento
{
set { _memento = value; }
get { return _memento; }
}
}
P -
Originator o = new Originator();
0.State = "On";
Caretaker ct = new Caretaker();
ct.Memento = 0.CreateMemento();
0.State = "Off";
0.SetMemento(ct. Memento);
Bt
State = On

State = Off



Restoring state...
State = On
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abstract class SubjectO
{
private List<Observer> _observers = new List<Observer>();
public void Attach(Observer observer)

{

_observers.Add(observer);

}

public void Detach(Observer observer)

{

_observers.Remove(observer);

}
public void Notify()

{

foreach (Observer o in _observers)

{
0.Update();

}

class ConcreteSubject : SubjectO
{
private string _subjectState;
public string SubjectState
{
get { return _subjectState; }
set { _subjectState = value; }



abstract class Observer

{
public abstract void Update();
}
class ConcreteObserver : Observer
{
private string _name;
private string _observerState;
private ConcreteSubject _subject;
public ConcreteObserver(ConcreteSubject subject, string name)
{
this._subject = subject;
this._name = name;
}
public override void Update()
{
_observerState = _subject.SubjectState;
Console.WriteLine("Observer {0}'s new state is {1}",
_name, _observerState);
}
public ConcreteSubject Subject
{
get { return _subject; }
set { _subject = value; }
}
}
P
ConcreteSubject s = new ConcreteSubject();
s.Attach(new ConcreteObserver(s, "X"));
s.Attach(new ConcreteObserver(s, "Y™));
s.Attach(new ConcreteObserver(s, "Z"));
s.SubjectState = "ABC";
s.Notify();
Bt

Observer X's new state is ABC
Observer Y's new state is ABC
Observer Z's new state is ABC
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abstract class State

{
public abstract void Handle(ContextS context);
}
class ConcreteStateA : State
{
public override void Handle(ContextS context)
{
context.State = new ConcreteStateB();
}
}
class ConcreteStateB : State
{
public override void Handle(ContextS context)
{
context.State = new ConcreteStateA();
}
}
class ContextS
{

private State _state;
public ContextS(State state)

{
this.State = state;
}
public State State
{
get { return _state; }
set
{
_state = value;
Console.WriteLine("State: " +
_state.GetType().Name);
}
}

public void Request()



_state.Handle(this);

}
}
LIEE
ContextS cs = new ContextS(new ConcreteState/A());
cs.Request();
cs.Request();
cs.Request();
cs.Request();
-

State: ConcreteStateA
State: ConcreteStateB
State: ConcreteStateA
State: ConcreteStateB
State: ConcreteStateA
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abstract class Strategy

{
public abstract void AlgorithmInterFace();
}
class ConcreteStrategyA : Strategy
{

public override void AlgorithmInterFace()

{

Console.WriteLine(
"Called ConcreteStrategyA.AlgorithmInterface()");



}
class ConcreteStrategyB : Strategy

{
public override void AlgorithmInterFace()
{
Console.WriteLine(
"Called ConcreteStrategyB.Algorithminterface()");
}
}
class ConcreteStrategyC:Strategy
{
public override void AlgorithmInterFace()
{
Console.WriteLine(
"Called ConcreteStrategyC.Algorithminterface()");
}
}
class ContextCS
{
private Strategy _strategy;
public ContextCS(Strategy strategy)
{
this._strategy = strategy;
}
public void ContextInterface()
{
_strategy.AlgorithmInterFace();
}
}
P
ContextCS contextcs;
contextcs = new ContextCS(new ConcreteStrategyA());
contextcs.Contextinterface();
contextcs = new ContextCS(new ConcreteStrategyB());
contextcs.Contextinterface();
contextcs = new ContextCS(new ConcreteStrategyC());
contextcs.Contextinterface();
Bt

Called ConcreteStrategyA.AlgorithmInterface()
Called ConcreteStrategyB.AlgorithmInterface()



Called ConcreteStrategyC.AlgorithmInterface()
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abstract class AbstractClass

{
public abstract void PrimitiveOperationl();
public abstract void PrimitiveOperation2();
public void TemplateMehod()
{
PrimitiveOperation1();
PrimitiveOperation2();
Console.WriteLine("™);
}
}
class ConcreteClassA : AbstractClass
{
public override void PrimitiveOperation()
{
Console.WriteLine(""ConcreteClassA.PrimitiveOpration1()");
}
public override void PrimitiveOperation2()
{
Console.WriteLine("ConcreteClassA.PrimitiveOperation2()");
}
}
class ConcreteClassB : AbstractClass
{

public override void PrimitiveOperationl()

{

Console.WriteLine(""ConcreteClassB.PrimitiveOperation1()");



public override void PrimitiveOperation2()

{
Console.WriteLine(""ConcreteClassB.PrimitiveOperation2()™);
}
}
WA
AbstractClass aA = new ConcreteClassA();
aA.TemplateMehod();
AbstractClass aB = new ConcreteClassB();
aB.TemplateMehod();
Bt .

ConcreteClassA.PrimitiveOpration()
ConcreteClassA.PrimitiveOperation2()

ConcreteClassB.PrimitiveOperation1()
ConcreteClassB.PrimitiveOperation2()
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abstract class Visitor

{
public abstract void VisitConcreteElementA(
ConcreteElementA concreteElementA);
public abstract void VisitConcreteElementB(
ConcreteElementB concreteElementB);
}
class ConcreteVisitorl : Visitor
{

public override void VisitConcreteElementA(



ConcreteElementA concreteElementA)

Console.WriteLine("{0} visited by {1}",
concreteElementA.GetType().Name,this.GetType().Name)
}

public override void VisitConcreteElementB(ConcreteElementB concreteElementB)

{
Console.WriteLine("{0} visited by {1}",

concreteElementB.GetType().Name, this.GetType().Name);

}
}
class ConcreteVisitor2 : Visitor
{
public override void VisitConcreteElementA(ConcreteElementA concreteElementA)
{
Console.WriteLine("{0} visited by {1}",
concreteElementA.GetType().Name, this.GetType().Name);
}
public override void VisitConcreteElementB(ConcreteElementB concreteElementB)
{
Console.WriteLine("{0} visited by {1}",
concreteElementB.GetType().Name, this.GetType().Name);
}
}
abstract class Element
{
public abstract void Accept(Visitor visitor);
}
class ConcreteElementA : Element
{
public override void Accept(Visitor visitor)
{
visitor.VisitConcreteElementA(this);
}
public void OperationA()
{
}
}
class ConcreteElementB : Element
{

public override void Accept(Visitor visitor)

{

visitor.VisitConcreteElementB(this);



public void OperationB()

{
}
}
class ObjectStructure
{
private List<Element> _elements = new List<Element>();
public void Attach(Element element)
{
_elements.Add(element);
}
public void Detach(Element element)
{
_elements.Add(element);
}
public void Accept(Visitor vistor)
{
foreach (Element element in _elements)
{
element.Accept(vistor);
}
}
}
PH:

ObjectStructure ov = new ObjectStructure();
ov.Attach(new ConcreteElementA());
ov.Attach(new ConcreteElementB());
ConcreteVisitorl vl = new ConcreteVisitor1();
ConcreteVisitor2 v2 = new ConcreteVisitor2();
ov.Accept(vl);
ov.Accept(v2);

fth

ConcreteElementA visited by ConcreteVisitorl
ConcreteElementB visited by ConcreteVisitorl
ConcreteElementA visited by ConcreteVisitor2
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